S1 Offset (mm)

E1 Offset (mm)

W1 Offset (mm)

-1.0

0.4

0.

w

0.2

0.

[

0.

=)

[ ERRERENEEE FERTERREE SRR

05—

0.0—

-05—

0.5

0.0~

.05

-2.0

-15

-1.0

-0.5
HA (hr)

0.0

0.5

S2 Offset (mm)

E2 Offset (mm)

cart Offset (mm)

-0.2

-0.4

-0.6

-1.0

0.4

0.2

0.0

I
=)

[y
=}

0.4

0.2~

0.0~

-0.2—

1.0

05—

0.0~

-0.5—

- O O

—r1

-2.0

Fig. 1.— Baseline offsets vs. hour angle for each cart.
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Fig. 2.— Baseline offsets vs. elevation for each cart.
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Fig. 3.— Baseline offsets vs. time for each cart.
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